ECE 300
Spring Semester, 2006
HW Set #16 _
Due: April 20, 2006 Name 2ok (cp5-
wlg - _ Print (last, first)

Use engineering paper. Work only on one side of the paper. Use this sheet as your cover sheet, placed
on top of your work and stapled in the top left-hand corner. Number the problems at the top of the
page, in the center of the sheet. Do neat work. Underline your answers. Show how you got your
equations. Be sure to show how you got your answers. Each problem counts 10 points.

13.7 V,=540.5/144.2° mV

13.18
Zm =(2.215+ j29.12) Q

Vg =61.37£—462°V

13.26
1,=3.755£-36.34° 4

I, =3.755/143.66° 4

13.35 1,=1484-214° 4; 1,=0.0775£-134.85° 4; I,=0.77£-110.41° 4

13.xx  Extra credit (10 points). Find Vg
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